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In 1-§, Find all solution in the equation in the interval [0, 27).
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b. Given siné = - and &is in the inteval [—, 7]. Find the exact values of sin28,

c0s26. and tan26.
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Use the half-angle formulas to find the exact value of sin105". cos105°, and tan105°,
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Use the sum formulas to find the exact value of sin255". cos255". and tan255
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32. Use the substitution x = 3tan® to write the algebraic expression vx° +9 as a
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34. Expand and simplify: cos(2x — y)cosy — sin(2x — y)siny
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36-37. Use the sum-to-product formulas to write the sum or difference as a product.

| N o O— ©
36. cosl120° +cos30° = .9,CC:8< 120 "’BD) C0S < ,D-'Q SD)

D =L

:[Q cos 15 cos 45°

- |

: LN
37. si11(x+§) +sin(x—g} = .QS\O(’X"' 5’) CQS(M"%)

38. Find all solution in the equation in the interval [0. 2m): cos2x—cos6x=0 U Siﬂa Sum —‘J'O - {DFO&UCJL

_isin(gocgéoo()Sm(ro-(w): 0 ~

* ’X:D) %)Eg%
~Jsindn sin(-2uw) = © T 4 STy 7
- Dsind =0 Sin(-4x)=0
Sindy =0

I=0tm— %=""%
(o) | G Yy =T —> = Vg + 0 Y,y




39. Verify the identity: cos® x—sin® x = cos 2x
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40.) Find all solutions in the interval [0,27): 2cos’(208)—1=0 q0°
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42.) Verify the identity: tan® xcos’ x + cot® xsin® x =1
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